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∫ ∫

D

sin(2xy)

1 + x2 + y2
dxdy

r
D = {(x, y) | x2 + y2 < 1 , x > 0 , y > 0}
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with(plots) :
b[0] := 1 :
for i from 1 to 100 do

b[i] := fsolve(x^2− 3 ∗ x + 2− (i/3) ∗ sin(x) = 0, x = b[i− 1])
end do :
c[0] := 2 :
for i from 1 to 100 do

c[i] := fsolve(x^2− 3 ∗ x + 2− (i/3) ∗ sin(x) = 0, x = c[i− 1])
end do :
p1 := plot([seq([i/3, b[i]], i = 1..100)], style = point) :
p2 := plot([seq([i/3, c[i]], i = 1..100)], style = point) :
display(p1, p2);
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x(t) = a0(1 − t)3 + 3a1t(1 − t)2 + 3b1t
2(1 − t) + b0t
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r2 = c + a2 + b2 .
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f(s, t) = (λ1(s, t) + 4)2 + (λ2(s, t) + 2)2 + (λ3(s, t) − 2)2 + (λ4(s, t) − 4)2 ?
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